~FIH :2024/9/9

[R—FXAM] R (REZVTHEDIHRE)

SHME6FTA3H~TM6FIA2H

HAME

BB
B4 #El TSI IHFEHSH | A2 TRHERR
B RET EM mExE 1,288,123 # 21,469 # ©
B R T RE = 1,157,551 # 19,293 # ©
REM jt@A E— 822,564 # 13,709 # ©)
MACHbiH B A Bk &t 818,765 #= 13,646 % ©
WAMIITBGEARILRERR | AN = 814,053 # 13,568 #= ©)
SHHE] A #mER 761,055 #= 12,684 # ©
FiMH My F= 750,893 # 12,515 # ©)
BEEHR I HpH 716,026 #= 11,934 # ©
REM #FE EiE 689,504 # 11,492 # ©)
REM fRE =i 679,142 # 11,319 4 ©
AT #E ERF 666,372 #= 11,106 # ©
M 2 =S 665,772 # 11,096 # ©
HACHbiE B E S 615,277 # 10,255 # ©
E2-1) £H §— 612,956 # 10,216 #= ©
BEEHR =#H #W=E 582,626 # 9,710 % ©)
gl Bt RE 579,504 #= 9,658 #x ©
AT itE =8 579,002 #= 9,650 #x ©
EIEHET w® BR 575,703 # 9,595 # ©
WAMMZITBUEARNILRERR | B Mmx 569,242 #= 9,487 # ©
HRLEFEEERS )il &Hte 562,841 # 9,381 # ©
HEETMENEEMEL 42— | KA B 561,233 #= 9,354 # ©
mEh KK 1= 552,459 # 9,208 # ©
WAMMITBGEARILFERRE AR 2 548,720 #= 9,145 # ©
M Kip &@F 544,924 # 9,082 # ©
BEEHR W@l FEE 526,081 # 8,768 # ©)
il mHE AEF 521,746 # 8,696 ©
il W Teh 512,989 #= 8,550 #x ©
BES T FEN 512,319 # 8,539 # ©
KET Tk Eth 501,705 # 8,362 # ©)
SHEBET RN MER 499,580 = 8,326 & ©
B RET s 5 R 499,571 #= 8,326 % ©
BES #BL T8 488,996 #= 8,150 #= ©
S1=hH] i S 476,657 #= 7,944 5= ©)
FiMh hE ¥ 474,835 #= 7,914 5= ©
REM TR $kER 468,897 #= 7,815 #: ©)
HEEHETRES LHES Nni#pa & 465,761 #= 7,763 % ©
il ®E ¥ 461,059 % 7,684 #% ©
E2-L) AT #F 460,787 #= 7,680 # ©)
FiMh E R¥ 453,527 #= 7,559 # ©)
T iR BERA 448,353 #= 1,473 % ©)
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PB4 I RS2 IHFEESEE | 22 HENR
HEETHRESEHE Ak —E 440,811 % 7,347 # ©
E2-1) alll #ZR 436,555 % 7,276 # ©
E2-1) MNE B 431,873 % 7,198 # ©
<L) = £¥ 430,708 % 7,178 # ©
BEm b FIX 430,592 % 7,177 % ©
E2-1) g 423,861 % 7,064 #= ©
HEEWRNES HFES 5 BRI 423,780 % 7,063 # ©
BEEH hEF R&E 417,747 % 6,962 #= ©
BEm RE BF 415,571 % 6,926 #= ©
#mm RO EHEE 413,791 % 6,897 # ©
EBEETHNEESRBFLES | HO BHE 407,612 % 6,794 # ©)
ZIEET =M ER 401,165 %= 6,686 # ©)
E2-1) AR AR 398,555 6,643 #% ©)
=1 BmH =3x 392,199 % 6,537 # ©)
BEm HE E= 390,507 % 6,508 #= ©)
KIEH \H BR— 389,368 & 6,489 # ©)
BEEH TH @ 386,544 6,442 # ©)
BEm f)ll BEF 378,785 % 6,313 # ©)
Hmh Hft =i 373,394 6,223 # ©)
BEEH WA B 366,826 & 6,114 # ©
EEH B BF 366,163 & 6,103 # ©)
HBEETHNESEM)E by Bk 361,764 % 6,029 # ©
BEm ¥R #WmE 360,668 & 6,011 # ©)
C3- ZH IEF 360,171 % 6,003 £ ©
BEH MHE FRE 360,029 %= 6,000 % ©
BEM e = 356,669 # 5,944 #
wEEHENES BBhs TH MEA 354,394 # 5,907 %

EEET dtE #MF 353,158 # 5,886 #=
RE™M ek #F 342,822 # 5,714 %=
FYEHT HE BT 342,661 # 5,711 %
EIEET KT ER 341,822 # 5,697 4
BEM BEH =i 335,652 # 5,594 #
KIEH N f0%&F 328,770 # 5,480 #
HE™ ER #BF 323,006 # 5,383 4
BFIM AE BEE 320,140 # 5,336 4
59 e RH OEE 317,958 # 5,299 #
B R AT =R 300,117 # 5,002 4
BFiM T KB F=F 299,490 # 4,992 4%
BFIM He &F 273,635 # 4,561 %
BFI KFER &5 269,785 # 4,496 %
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BA R SM6ETHAIH~SF6FEIR2H SCERFRER
PB4 2 B IHFEESEE | 22 HENR
BFM KT BT 263,122 % 4,385 %
BFIM T ) 259,580 # 4,326 %
EEM KB HhHh 256,656 # 4,278 %
BEHT NBRE ¥ 246,192 % 4,103 %
A Mt BE 245,529 # 4,092 %
B5m R G 244,413 % 4,074 %
BFIMN T e HE 240,517 % 4,009 #%
BEH HE H=E 237,383 % 3,956 %
BEET R T 235,678 # 3,928 %
HET EHR B% 235,292 4% 3,922 %
HEaT™ B BF 232,975 % 3,883 %
=mem TR K 224,877 % 3,748 %
Hm™ A HEsL 224,046 % 3,734 %
Ea-Li) R 2 217,615 % 3,627 %
S=n EH AL 215,663 % 3,594 #
REM HE YE 211,972 % 3,533 %
w8 B AT R 8 AR S TN TN 208,929 # 3,482 %
pepediiyy B =R 208,271 # 3,471 %
Ea-Li) AR ERTF 207,663 # 3,461 %=
59 e e BwE 200,050 # 3,334 %
BF N ARA 1% 191,092 # 3,185 #=
FRSEHT AN BE 182,254 #= 3,038 #
BFIM XH EHE 177,393 # 2,957 %
REM B i 175,115 #= 2,919 %
BFIM He 473 169,678 # 2,828 4%
HEaT™ SR B4 167,330 % 2,789 #
HEEMINBEMREL 22— | #HHF FXR 160,636 %= 2,677 %
HEENHNBERBFEES | T FEX 159,645 #= 2,661 %
LPRET hEE | 145,000 # 2,417 %
REM BR BT 144,180 #= 2,403 %
E™ R BT 137,369 # 2,289 #
AT FHE &R 136,096 # 2,268 %
BFIM FE #Ft 134,649 % 2,244 #%
#E™ A EF 134,633 # 2,244 %
EEH™ il #EsE 118,265 #= 1,971 %
EEET hE ERE 114,412 % 1,907 #
HEERINEETEL Y 2 — | A A 103,860 # 1,731 %
Ea-Li) R BE 102,201 # 1,703 %
BFIM & BX 101,259 #= 1,688 #
BFI A #H— 100,318 #= 1,672 %
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